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1.    

Z TopIx Z

 [1-3] み よ

TopIx Z さ ぜ ❻  
   み  [4]

㎰ み み  (3, 4, 5) 

み み み 60 120 み

c2 = a2 + b2 – 2ab cosθ = a2 + b2 ± ab     (1) 

み (7, 5, 3)  , (7, 5, 8) , (7, 8, 3) 

㈻ み Eisenstein み

 EsT [4]

(i) (ii) 3 (m, n) 3

㎰

a = m2 – n2 ,    b =  m (2m + n) ,   c = m2 + mn + n2 (2)
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 1.   3 み  

c2 = a2 + b2 + ab   120 EsT      (3) 

c2 = a2 + (a + b)2 – a (a + b)     (4)  



c2 = b2 + (a + b)2 – b (a + b)     (5) 

み  (a, c, (a + b))  (b, c, (a + b)) 60 EsT

レ よ

EsT Z TopIx

Z ぞ ぜ EsT よ

ぜ

   (m, 1) EsT

n=1  (m, 1) EsT  

   

                    m                   n                    a                  b                    c                 a + b  

2 1  3 5  7  8 

3 1  8 7 13 15 

                    (4) 1 15 9 21 24 

 5 1 24 11 31 35 

 6 1 35 13 43 48 

                    (7) 1 48 15 57 63 

 8 1 63 17 73 80 

 

(2)  (ii) EsT  

            a = m2– 1 ,       b = 2m + 1,       c = m2 + m +1 ,      a + b = m2 + 2m = (m + 1)2– 1 (6) 

├ a  a + b b 

a  c ㈻ Z 2
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32 54 m
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a–b =1 ㎰ み EsT 2
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m            n                 a                    b                   c                  a + b               2 c / (a + b) 

 3 1 8 7 13 15 1.73333 

 11 4 105 104 181 209 1.73205741 

 41 15 1456 1455 2521 2911 1.7320508416 

 153 56 20273 20272 35113 40545 1.732050807744 

 571 209 282360 282359 489061 564719 1.73205080756978 

 

 

 (m – n)2  – n2  = 1      (7) 
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